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The goal of this review is to summarize, analyse and compare up-to-date administrative and legislative mechanisms
for safe nature management, as well as main conceptions and approaches to environment protection system formation.
Special attention is paid to social and legislative aspects of such systems formation on a regional level. Possible reason
of non-effective use of social and economic incentives in nature management. Recomendations and conclusions of the
review can be used as a conceptional base to develop complex regional programs of sustainable balanced development.
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